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Writing Task # 2 :
Learn more about current world issues :  This exercise will help you to improve your vocabulary and awareness of various issues for your IELTS Test. 

Acid Rain

· Rain that contains large amounts of ……………………………….…  This can cause serious health problems as particles of pollution can enter peoples …………………………..….. 

· Acid Rain can ……………………………….. into the ground causing soil pollution. 

· As rain falls into the lakes and rivers, this can cause water pollution.

· Acid rain can also be responsible for damaging ……………………………

Answers : chemicals, lungs, seep, buildings. 

Deforestation 

· Deforestation is the destruction of the forests and the cutting down of trees on a large scale. 

· As forest are cut down, it affects the atmosphere and ……………………….. as trees play a large part in the water cycle.

· Another problem is the loss of ……………………. Some species of plants and animals have already been lost while others remain endangered.  This is due to the loss of their ………………………………

· This process affects planet change. Trees  …………………………. CO2  and give off oxygen.  By destroying forests, more CO2  remains in the atmosphere affecting the climate. 

· In the areas where the trees have been removed, ………………………………. occurs as the earth is exposed to the suns heat.  This evaporates much needed nutrients contained in the soil and is difficult to reverse.

· This process affects climate change. Trees ………………………. CO2
Answers : eco-system, bio-diversity, habitat, absorbed, soil erosion. 

Ozone Layer Depletion
· The ozone provides essential protection from the …………………………………… ultra-violet radiation. 

· Certain industrial compounds ……………………………………. the ozone layer.

· This reduces the ability of the ozone to protect …………………………………. from UV radiation.

· This is a global issue as the compound affecting the ozone come from other parts of the world to where the problem lies.

Answers : suns, break-down, surface life. 
Climate Change
· The build up of ……………………………… into the atmosphere have let to changes in the world’s climate.

· The cause of this can be found in Carbon emissions and the combustion of …………………………..

· Climate change can be felt in the rise in the temperatures and the changes of …………………………….. on a global scale. 

· As a result, draughts, floods, wild fires and storms are becoming more frequent.

· With the increase in temperatures, comes the rise in sea levels which threaten ………………………. lands.
· The future consequences are potentially devastating. 
Answers : green house gases, fossil fuels, weather patterns, low line.
World Population
· The world population is currently 7 billion and is estimated to be …………………………… by 2024.

· This is due to improved living standards and medicine which results in a …………………………….. and lower infant mortality.

· Over population will result in ………………………………………. and an increase in Carbon emissions worsening climate change. 

· In urban areas it may result lower standards of living and increasing ………………………………
· Feeding such a large population will also create challenges. 
· Safe, environmentally friendly …………………………… will also become a problem as the world population grows which can result in growing pollution.
Answers : 8 billion, long life span, draining world resources, crime rates, waste disposal.
VOCABULARY :

Eye-catching
:
appealing, attractive

Subtle
:
not obvious

Flip through a magazine
: 
look at the pages quickly.

To target an audience 
:
to aim for a group of people

Catchy tune 
:
an appealing melody

Peak viewing time 
:
a time when the majority of people are watching

Glossy 
:
shiny

Specific market 
:
particular group of people

Specific interest group 
:
particular group of people with same interest

Persuasive 
:
it convinces us to do something or think something.

Memorable 
:
it stays in our mind for a long time. 
Intrusive 
:
causing annoyance, uninvited

Invasion of privacy
:
when your privacy has been invaded (entered without permission)

Up-to-date 
:
current

Customer database 
:
list or record of customers

ANALYSIS AN OPINION ESSAY

TOPIC : 

Everyone of us should become a vegetarian, because eating meat can cause serious health problems. 

-- To what extent do you agree or disagree.

Answer the following questions:

1. Do you think vegetarians are healthier than people who eat meat?

2. Do you think the vegetarian diet is healthy?

3. Do you think the people who eat meat are unhealthy?

4. Does eating meat always create health problems?

5. Is there any meat which you think is healthy to eat?

6. Do you think all people should be vegetarian?

7. Do you think all people should stop eating meat?

8. What is another way to say “vegetarian”?

MODEL INTRODUCTION :

Eating meat is considered by some to damage our health and for that reason they believe all people should adopt a vegetarian diet. In my opinion, although a vegetarian diet is certainly a healthy option, having a balanced diet, which contains vegetables and some healthy meat is the key. 

VOCAB BUILDER :

Cause serious health problems 

:
damage our health

Become a vegetarian 


:
adopt a vegetarian diet

USAGE OF LINKING WORDS :
More and more women are choosing to start a family later in life. 

Crimes should not have the same punishment. Minor crimes, such as pick pocketing and traffic offences, should not have the same penalty as major crimes, namely murder and man slaughter.

Children often learn behavior from the adults around them sub-consciously.  To illustrate, around 50% of children who are brought up by aggressive parents often use aggression to solve their own problems later in life. 

Parents should be responsible for teaching their children right or wrong. If, for example, they see their child using bad language, they should spend time explaining to their child the serious consequences that can result from this type of behavior. 
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